(6 pages)
NOVEMBER 2021 62531/CA31C

Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

1. Give any two example for finite sets.

4o n SETBISEESE TECSEID @ Temh 2 &TenThiSeT
&(h.

2. Define complement of a set and give on example.

Bty oenflullener euanTwmss 2 STrewTd &(Hs.

3. If A={a,b, ¢}, B=1{1, 2}, prove that AxB=BxA.

A={a,b,c}, B={1,2} aaflv AxB#BxA aen
Hmeys.

4, Divide Rs. 672 in the ratio 5 : 3.
fh. 672-3 5 : 3 eranp Sl 191,

5. Ifézﬁzg,find A:B:C.
3 4 5

=—=— gafl®o A:B:C sreans.

A_B_C
3 4 5



10.

11.

12.

Calculate P(10, 2).
P10, 2) - sansdl(Hs.

What 1s the formula for permutation when

repetition is allowed?
BT SHSsDLe] @SS ILLLTD
wrHnSSHHeTer @GsSHTh erevmen ?

3
Evaluate Lt .
x>0 x cosec X

3
Lt ——— -&n wdlly snems.
x-0 x cosec X

3
Differentiate (x —gj with respect to x .
X

3
(x—gj -3 x -gl Qurpsg euasud(hHs.
x

Find the maxima for y =5x% +2x? — 3x.

y=5x"+2x* - 3x -ar BUQu AL Hre.

What is an annuity?

AT (h FHST CTETMTE 6TEHET ?

What is the formula for banker’s discount?

UBISS SETEHLIGEHTET GSSTLD 6rebre ?

auflens
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13.

14.

15.

PART B — (5 X 5 = 25 marks)
Answer any FIVE questions.

Prove that

@ A-(Bn(C)=(A-B)uA-0)

b) A-(BuC)=(A-B)n(A-0C)

(=) A-(BnC)=(A-B)u(A-0)

(<) A-(BUC)=(A-B)Nn(A-C) aer Himie|s.

Let f and g be functions defined by f(x)=3x+4
and g(x)=x*+2,find (a) gof and (b) fog.

f wombd g eerp griysdr, f(x)=3x+4 wLHHID
g(x)=x*+2 GTETM EUEATWMISSLILIL LT (&) gof
LHOID () [ o g srams.

The salaries of A, B,C are in the ratio 2:3:5. If

the increments of 15%, 10% and 20% are allowed
respectively in their salaries. What will be the new
ratio of their salaries?

A, B,C-Qer sbueard 2:3:5 eern  ellgsHed
o drergl Sjeunseflen eadlw o wie| WpeapGu 15%,
10% WHmb 20% eTen  H@ILSHESIULLTED,
Sjaisafien 4Hw sbuersdler ellflsbd eremer?
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16.

17.

18.

19.

If a:b=c:d=e:f=5:6, find the value of

ap +cq+er
bp+dqg+fr
a:b=c:d=e:f=5:6 el LIATE ULy
bp+dq+fr
SHTCHTS.
Find the sum of infinity l+£+ﬁ+ .....
3 36 369
1 1.3 1.3.5
—t——F——+.....-¢ ) afedl
3736 369 o wbpos  gueildlany
E

. . . 1(b+asi
Differentiate sin! (ﬂj

a+bsinx

sin™" (MJ -3 U (5.

a+bsinx
Peter makes $7000 a month plus some money by
commission rates. He gets 6% of everything he
sells. If Peter sold $55,000 with of items this
month, what is his salary for the month?

Sroir e wrssdnE $7000 Qupdpri. embHsors
QarEped LaTd 7@ fssded e sdpg. eerenm
dpuewer CeuwybGurgy eur 6%  Cumdp.
$55000 wdriyerar Qum@pLgener LT @S LLISLD
slpuener QFUISTD DeuUTgl MG el eTeire ?
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20.

21.

22.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.

Show that R 1is relation of congruence modulo m.

R -syerg wl(h mOsramL greugn CgrLieLwg)

eTa 16lmicys.
If Rs. 510 be divided among A,B, C in such a way

that A gets g of what B gets and B gets i of

what C gets, find their shares.
. . ) .2
eh. 510 yarg A, B,C &5 B QuppensiCumréd 3

gearg Asgb, C QuppestiCured i%mgﬂ
Bsgn Wfssuucimd A,B,C-len uki@gsmears

S ITEU0T .

oo

12+22+3%+....+n?
Evaluate z R M R
1

n!

o

2 2 2
mgml_q@& Zl +2°+3°+....+n

!
1 n.

2
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23.

24.

Differentiate y =tan™ [

x+va2—x2

Explain binary number

x+va2—x2 .

sl (Hs.

system.

@ eTeT(pem 6Nle6TdHEHsS.
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